Operaciones con Nimeros Quinarios (1)

3414

— 2304;

42415

+ 1134

4124,

+ 43435

33045

+ 21405

1213

+ 2032;

Calcule cada respuesta.

34135

+ 24405

12415

+ 32135

4104

+ 31235

10312;

— 24105

4222

+ 42445

1124

+ 34325

4243

+ 3443,

2413;

+ 10315

14015

+ 13405

12405

+ 2214

112325

— 23005

34125

+ 31135

101035

— 2422

12035

+ 33305

44035

— 31205
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Operaciones con Nimeros Quinarios (I) Respuestas

3414

— 2304;

11105

42415

+ 1134

104305

4124,

+ 43435

140225

33045

+ 21405

104445

1213

+ 2032;

33005

Calcule cada respuesta.

34135
+ 24405

114035

1241
+ 3213;

100045

4104
+ 3123;

122325

103125
— 24105

2402:

4222
+ 42445

140215

1124

+ 34325

101115

4243,

+ 3443,

132415

2413

+ 10315

34445y

14015

+ 13405

32415

12405

+ 22145

4004

112325

— 23005

3432;

34125

+ 31135

120305

101035

— 2422

21315

12035

+ 33305

10033

44035

— 31205

1233;
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